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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 34 questions. All questions are compulsory.
(i)  Marks are indicated against each question.

(1it) Answers should be brief and to the point.

(iv)  Answers to questions carrying 3 marks may be from 50 to 75 words.

(v)  Answers to questions carrying 4 marks may be in about 150 words.

(vi)  Answers to questions carrying 6 marks may be in about 200 words.

(vit) Attempt all parts of a question together.

Questions no. 1 to 20 are Multiple Choice Questions (MCQs), carrying 1 mark
each. 20x1=20

1. Niyati is working as a teacher in a school in Mansarovar Garden. She
always tells the children at the school not to pollute the environment,
and not to throw wrappers of chips and chocolates here and there. She
always carries a bag with her to collect the wrappers and put them in the

dustbin.

By doing this, which responsibility of a consumer is she discharging :
(A) Reading labels carefully

(B)  Asserting to get a fair deal

(C) Respecting the environment

(D) Being honest in the dealings
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2. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from the options given below :

Assertion (A): When the allocative function is performed well, scarce
resources are allocated to those firms which have the
highest productivity for the economy.

Reason (R): Allocative function allocates or directs funds into their
most productive investment opportunity.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

3. ‘Mudro Infratech’ got a short-term contract for building two villas within
a period of ten months with the expectation to earn a huge amount of
profit. The Works Manager accepted this challenge and completed the
work within the given time period. The profit of the company went up by
40% due to this temporary order. The Finance Manager was aware that
the company would not earn this huge profit in the near future. So, he
decided not to increase dividend per share as earnings for the year had
gone up, but not the earning potential of the company. He also knew that

this increase in earnings was temporary in nature.

The factor affecting Dividend Decision being highlighted above is :
(A)  Cash flow position

(B)  Shareholders’ preference

(C)  Growth opportunities

(D)  Stability of dividends

13-66/3/2 P.T.O.
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4. Statement I : Leadership indicates the ability of an individual which
influences the behaviour of others.

Statement Il : Leadership is exercised to achieve personal goals of the
leader.

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.
(B) Statement II is true and Statement I is false.
(C) Both the Statements are true.

(D) Both the Statements are false.

5. is concerned with designing jobs that include greater
variety of work content, require higher level of knowledge and skill, and
give workers more autonomy and providing them opportunity for
personal growth and a meaningful work experience.

(A) Job security

(B)  Perquisites

(C)  Employee recognition programme
(D)  Job enrichment

6. Statement I: The objective of financial management is to maximize
shareholders’ wealth.

Statement Il : The shareholders gain if the value of shares in the market
increases.

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.

(B) Statement II is true and Statement I is false.

(C)  Both the Statements are true.

(D)  Both the Statements are false.

7. ‘Panmol Dairy’ started using environment-friendly ‘Bilona’ method of
making ghee, unlike other dairies which were using modern methods
involving machines and chemicals. By doing this, ‘Panmol Dairy is
providing employment to hundreds of illiterate people in the rural areas.
Which objective of management is ‘Panmol Dairy’ trying to achieve :

(A) National objective (B) Personal objective

(C)  Social objective (D) Economic objective
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In the a securities account can be opened, all shares can be

deposited in it. These can be withdrawn / sold at any time and instruction
to deliver or receive shares on behalf of the investor can be given.

(A)  Primary market (B)  Stock exchange

(C) Bank (D)  Depository

‘Bonfast Cement Ltd.” supports 7 villages with housing facilities, schools,
safe drinking water, health and hygiene. The company sends its
employees to visit a nearby village every 15 days to provide support and
to see whether the facilities provided are being implemented on ground.
The objective which ‘Bonfast Cement Ltd.’ is trying to achieve is :

(A)  Personal objective

(B)  Social objective

(C)  Organizational objective

(D) Economic objective

To motivate its employees on one side, ‘Harshita Pearls’ rewards them
with increase in pay, promotion, recognition, etc. whereas on the other
side it stops increments, gives punishment, threatens employees so that
they may act in a desired manner.

Which feature of motivation is being highlighted in the above case ?

(A) Motivation is a complex process.

(B)  Motivation is an internal feeling.

(C)  Motivation can be either positive or negative.

(D) Motivation produces goal-directed behaviour.

Which of the following statements is not highlighting the importance of

financial planning :

(A) It helps in forecasting what may happen under different business
situations.

(B) It helps in avoiding business shocks and surprises and helps the
company in preparing for the future.

(C) It provides a link between investment and financing decisions on a
continuous basis.

(D) Detailed plans of action prepared under financial planning
increases waste, duplication of efforts and gaps in planning.

13-66/3/2 P.T.O.



12.

13.

14.

EEE
(o]

TR ST IShA 3YH-HT I FGAd §T TATRU % HEY IIHIcAd
X T 8 | oo At SUHIRIST T 9ged a1 3 W19 I3 W % AU
38 aive HfeA S BHEHh, LM AMME T AT HAoed TR AT
qR

FrafaReaa O @ yerg i e fomivdar W I Ste T B, 38 98T

(A) Y T ATfeeh 5haT 7 |

(B) UeY Tsh TI&dX I Tl IfshaT 2 |
(C) YaY SgIIE 7 |
(D) Y=Y Teh iR 2 |

HRA H I B9 oh IR Ig ATGLIH 5 foh HHIAT ITUTE oh ieal T IcUTG h
uesh, o fafsr, wmn, qew, swim % fau e fdw anfe & s & g=ar wem
|

frafafea o @ 39 3uveT fUsR 6t ygam Sife a0 w1 3a rawesar S
ofd & Tqee e B

(A) &1 1 ARBR

(B) AT &I AR

(C) AW g Wl AURR

(D) TR 1 3TRIHR

Friea § ulgerel Sl el g3 IUEAfd % HRU ThaH ¢ Tcds YehaR
AT ST ITelt ATl hl TATE o 37 H ¢f-eh IUANT shi Jegatl hl Glegrd
% U AT i & foIe Teferes e Il w&da o 8 |

9 feufd # SaETRies TATatul o fhE ST W YRl STl TR & ?

(A)  GTHETIS TATa (B) Tafess gatewm

(C) THfdes gl (D) Yrenfeh qafewn

13-66/3/2 Page 10



12.

13.

14.

13-66/3/2 Page 11 P.T.O.

=458
B

Most of the organizations these days have adapted themselves to
changing environment. To reach and engage with the target customers,
they started to have a strong presence on social media like Facebook,
Instagram, etc.

From the following, identify the feature of management being
highlighted :

(A) Management is a group activity.
(B) Management is a continuous process.
(C) Management is multidimensional.

(D) Management is a dynamic function.

The legal framework in India requires the manufacturers to provide
information about ingredients, date of manufacture, quantity, price,

directions for use, etc., on the label of the product.

From the following, identify the consumer right that is satisfied by the
firm by fulfilling the requirement :

(A) Right to safety

(B)  Right to be informed
(C)  Right to be assured
(D)  Right to be heard

Due to increasing presence of women in the workforce, ‘Kisan Mart’
comes out every Friday with big discount offers on daily use items to

attract office-going women to shop on weekends.
Which dimension of business environment is being highlighted in the
above case ?

(A)  Social environment (B) Legal environment

(C)  Political environment (D) Technological environment
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15. Raunaq, while studying at the university, felt that there should be a food
joint in the university campus to provide food to students round the clock.
After passing out of college, he set up ‘Hunger Point’, a food joint with a
varied menu ranging from burgers, pizzas, street food and much more, in
the university campus. For this, he obtained necessary permissions from
the university administration. Since he was the first one to recognize the
need for a food joint for all the students in an environment where
students study day and night, it soon became a popular eating joint.
Within six months, ‘Hunger Point’ started earning good profits.

Identify the point of importance of business environment discussed in the
above case :

(A) It enables the firm to identify opportunities and get the first mover
advantage.

(B) It helps the firm to identify threats and early warning signals.
(C) It helps in assisting in planning and policy formulation.

(D) It helps in improving performance.

16. Match the Levels of Management given in Column I with the functions
performed at each level given in Column II :

Column I Column I1

1. Top Level Management (i) They directly oversee the efforts of
the workforce.

2. Middle Level Management | (ii) They ensure that their department

has the necessary personnel.

3. Operational Management (iii) They are responsible for the welfare

and survival of the organisation.

Choose the correct option from the following :
A 1-G0), 2-Gi), 3-3ii)
(B)  1-Gii), 2-(G1), 3-(1)
(©) 1-Gi), 2-G3), 3-(i1)
(D)  1-Gi), 2-(ii), 3-1)
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17. Identify from the following what is depicted in the given picture :

\ Sweets

SWEET&
SPICY

HANDCRAFTED
ASSORTMENT OF
INDIAN TREATS

" Vs e P SRR biiig
5,2

ARV TR

fiien s

(A) Trade Mark only (B) Brand Name only
(C) Brand Mark only (D) Both Brand Name and Brand Mark

18. From the following, identify the one which is not a function of stock
exchange :

(A)  Providing liquidity and marketability to existing securities
(B)  Spreading of equity cult

(C)  Ensuring safety of transactions

(D)  Ensuring that there is no scope for speculation

19. Choose the incorrect statement with respect to demonetization :

(A) The two largest denomination notes of ¥ 500 and ¥ 1000 were
demonetized with immediate effect, ceasing to be legal tender
except for buying properties.

(B) The aim of this step was to curb corruption and accumulation of
black money.

(C) It led to the tax administration channelizing savings into the
formal financial system.

(D) Restrictions were placed on the convertibility of domestic money
and bank deposits.

13-66/3/2 Page 15 P.T.O.
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20. ‘Maslow’s Need Hierarchy theory’ is based on certain assumptions.

Identify the incorrect statement with respect to these assumptions :
(A)  People’s behaviour is based on their needs.
(B) A satisfied need can no longer motivate a person.

(C) People’s needs are in a hierarchical order, starting from basic

needs to higher level needs.

(D) A person moves to lower level of need only when a higher level

need is satisfied.

21. Neeraj Ltd. started an airline to provide good quality air services. For the
same, he purchased ten aircrafts. Out of these, two aircrafts would be
used to train the pilots. It will help them to achieve proficiency in

handling the aircrafts before they would actually fly them.
(1) Identify and explain the method of training discussed above.

(i1)  State any two advantages the pilots would get from this training. 3

22. (a) Give the meaning of ‘Contract Note’ and ‘T+2’ system in the

trading procedure in a stock exchange. 3

OR

(b)  State any three regulatory functions of Securities and Exchange

Board of India. 3

13-66/3/2 Page 17 P.T.O.
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IR IR | s TN Ifg & T | 31 &1 a0 fufw = stfafes o6 faw
F o fuia fren qen erfafes =t 6 fghe | SR srgEy qen
aferes T o foTu e T e IWRet ST9R B &1 qU & o6 fofw 3=
IO 391G AR 1 ToredR TohaT | T1 aom el o 37¥eh Sl & SR ‘foaeh
IR Ad: 361 TS o T |

gRRAT 3¢9d A §U U Td H Afa o9 o LT hi TgEH IR qe

N e e o N e ~ h—
3ehl ecdld [NV TSl Tefdeh HIIRME UTd AT =Tadl AT |

(%) N i fopmal dF TS a1t Sl HSy |
aterdn

(@) Te¥H WS o IHEYU T I HEAGIH H GgEd Hdl & || 39

o

A i foheal A forgati sl werrdn & |wssy |

(%) fouwom & f=feafaa st 1 gasms .
()  Tooue freism
(i) SR o€t GaA1 THiHA T a1 IHehT foweisor ST

AT

(@) UH 3G % qoF o MY i TG i el HHTARGd 92ehi ol
HHEATR -
i) 3G Sl AN
(i) 3T T AT
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Two ambitious friends, Sana and Mihir, having passion for creating
innovative software applications, established a tech startup named
‘Quick Solutions’. Their software was developed in such a way that it
caters to the needs of all sections. Since its inception, ‘Quick Solutions’
was earning enough revenue to cover the costs. They faced countless
challenges from competing with large and well-established companies.
But they learned from their mistakes and continuously improved their
product. Slowly, their software gained recognition for its quality and
uniqueness and the company started making profits. It was a big
incentive for Sana and Mihir for the continued successful operation of the
enterprise. Within two years, the customer base increased manifold.
Now, Sana and Mihir decided to make additional capital investment and
hired more employees. They invested in research and development and
expanded their product line to meet emerging market demands. ‘Quick
Solutions’ ultimately became the industry leader because of the tireless
efforts of Sana and Mihir.

Quoting lines, identify and state the objectives of management discussed
in the above case which ‘Quick Solutions’ seeks to achieve.

(a)  Explain any three psychological barriers to communication.

OR

(b)  ‘Directing helps in effective and efficient functioning of the

organization.” Explain this statement by giving any three points.

(a)  Explain the following functions of marketing :
(1) Marketing planning

(i1))  Gathering and analyzing market information

OR

(b)  Explain the following factors which affect the fixation of price of a
product :

(1) Product cost
(i1)  Utility and Demand
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ey Tacga feage Ame fhdrel H T ghM AhAdIges =l &l 7, Sl
5% 15 a9 <hl MY T o Tl hl EATIRATHAT i &IH § Wl & | 3 I
ST h GEAehl I G @A, E TRAThA gEdeh, TT G aTe] IEdeh,
el HETAI h T 3N g FS 2 | &dsh I e el a 3R]
foeneri, sifrvmehl aon I=1 g SR Sgd U TR Sl ST 7 | wEQO
YRA H $Eh! 16 G & S&1 § o= 7 hddl 39 T&IhI hl @I Hehd 8, (Ud
a8l 3R I Ug off Tehd &, TeArad Sfaaifirar & YW f ¥ehd @ AT Ued o
3THG I WS L Hehd & | 1 3Iad &9 H YSUd AT T Jo-ad, FUE
dur Herw 3 fSHE gl and § 9 T W gEehl i Ygarl S @ |
fopaTal sl I8 GHM 39 AT IUWIHIST ol FAd €9 8 T&iehi hl Iqcteddl,
$eh! ToRivamd, ATHi ScATie o o # Ff=d il TEdl & a1 3a J&doh @lad o
fore dam et 7 |

I feufd § 9fthl ol 3gYd hd U IeAG o I [oaquH WEH %
3feaiRad aal ! IgaTHT Td FHEsy |

(%) Taee 6 fhegl =m fomivanen i awemsu |
AYAT

(@) Toreheaitul < WE o fohral =R forgatl sl WSSy |

SYGE o GSIhIV § IUWITHT LU b Hgw o [hwal =R fagall =1 Ieoid
it |

faume 4 g & 4 OS] TeWTEeS % OHd 99IYE YeRHs o ®9 H YeHT
FUTAT 3 | FT 4 Tk Tomiv g ooy 61 ek foe fawma = <\ g
HuaTE hi e 1 | T A8 o B W AR h IEq q9l AW 9§ T
TS THI B B h 91G ’F AEwIhal off b $§ q@-Fgifia AHehi o ITER
3Tk TSITGH T oA fohaT ST | SaT & ET, SSTaT TretTgetel i 319
HUTTEAT & AT Gaet e qem qgiafad o AIel o1 o &= W@ o |
foumg o HE=TiEl o Greiehee faat i gfd o T ER@r s W@ oor | v
hTch ‘STdl TretITgere A Fgferetor wfsham = < Tewarqul =wor &1 g fomam o |

39 SO <! YEHI-T Ud THTEY |
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Arushi successfully runs a bookstore ‘Children’s Delight’ catering to
children of the age group of 5 — 15 years. They have the complete range of
children’s books like activity books, colouring books, fiction and much
more. The books are of good quality and are highly appreciated by
schools, parents and children. They have 16 stores all over India, where
children can not only purchase the books, but can also come and read,
and participate in quiz competitions and experience the joy of reading.
They have their own well-managed inventory management, storage, and
warehousing to deliver books to locations all over India. The bookstore
regularly communicates the availability, features, merits, etc. of the
books to target customers and persuades them to buy the books.

Quoting lines in the situation, identify and explain the two elements of
marketing mix in addition to ‘Product’ highlighted in the above case.

(a)  Explain any four characteristics of planning.

OR

(b)  Explain any four points of importance of decentralisation.

State any four points of importance of consumer protection from the point

of view of business.

Vibhas recently joined as a Human Resource Manager of ‘Bajanta
Enterprises’. The company had embarked on a special project for which
Vibhas had appointed twenty new employees. After the employees
underwent on-the-job training for a month and had been on the job for
some time, there was a need to evaluate their performance against
certain pre-determined standards. Not only this, ‘Bajanta Enterprises’
had to address the career related issues and promotional avenues for
their employees. Vibhas was designing activities to serve their employees’
long-term interests. By doing this, ‘Bajanta Enterprises’ had completed
the two important steps of staffing process. Identify and explain those

steps.
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30. ‘THI U UiHg R HAT HrO @ S STHER 2024 H 39 75 I8 P R S
@2 | BT o G&T HRIBR AR F HIUH Hl S TR W o IH H1 i
foem 8 | 3o fou 3E st % oft fourfa ygwl H T dew
JoTs | 93 H Sl o &I HRBR AHR 1 wifedq St a9 | fosea &

10% AT ATHI sl 20% deh SQTH h1 A&T TEAT(ed femaT |

qMa GOTEe Yaegsh 4 TIHH R fh 3 @& Wl U W o g
500 SHHATET hl Fhg L I MawIHhal arft | foaxiia Jawaes = gema fean fr
ot i Ty Igel o ol o O | Tehs I @1 3T a1 98 ATHTHG
Uehg IT=dig qd1 dfgaig Sl STIHH G g¢ 39 @Y & oy T T dan
HUT |

39 feurfa o afdda g1 TR st ASHISTT Sl IgaTHT Ud HHEST, |

o ~

31. (%) W= Yy & Fafafed fagrat = augmsu .

(1)  HHEATET h ITIHAT
(i) @I Sl WaA
(iii)  oIIEAT
areran
(@) ey & fagrar i Fafaleaa faewarst = aaemse .
@ HE AEEE

(i) H&Id: AR
(Gii)  31HfTad
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‘Leno’ is a reputed car manufacturing company, which is going to
complete its 75 years in October 2024. The Chief Executive Officer of the
company decided to take the company to a higher level. For this he called
a meeting of all departmental heads of the company. In the meeting, the
Chief Executive Officer proposed a target to increase sales by 10% and

profits by 20% in its Platinum Jubilee year.

The Human Resource Manager estimated that an increase of
500 workers would be required to achieve the target. The Finance
Manager suggested that the company must hold adequate cash balances
for various purposes, and he will prepare a statement showing the

estimated cash inflows and outflows for this particular period.

Identify and explain two types of plans discussed in the above case.

(a)  Explain the following principles of general management :
(i) Stability of Personnel
(i1)  Esprit de corps
(iii) Order
OR
(b)  Explain the following features of principles of management :
(i) General guidelines
(i1)  Mainly behavioural

(i1i) Contingent
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(%) HFIHT I IS FEEAT h T I THTET BT dTel HHATARIT T2l i
HHEATSU .
i) Tow w ufawa (.7.371E.)
(i) Y& ArTd
(iii) T
Srera
(@) T HFIHI i BRI IS STEIhAT Sl THIGT HH dTel HHTIREa
HZeh ohl THHATST :

(i)  SIIER I TH(d
(i)  =I9d™ <sh

(i)  HErehifd
a1 fooet & fafym wini # Sfeam Tohaa’ ameh T ARRRE S@dTg <l

AGAT 1 FATAT Ll 8 | 36 TAUE 5@ I = e 9Tl @H q1
NG da1 o QS ST of | Sfed fohe aT=s! W e R Tl ot ae
3Heh! ST9R | B oft | seT ATdtieeh SMUR W SIAdTREl o |l Yeegehl |
e adt off 9t I gHE 9 W 391 Fem w1 & [ e sriard
wt ot | T Fure # et 7 o fosha § frae @1 v o |
3G SIAYTIE Je-4eh | I8 YA TohAT a1 I8 a1 b TAUTIE UTEehl hl G&A
T iR il <@ W o W 98 $Heh 0T TS €9 § FHIT el 9T | I
UTgehi H AT o HRUN 1 AT A o [ ST 5 Teh I 1 7T Tohar iTeh
Ig JIAUMIE SAGE 1 Y& g foieg 8 qA1 SYIHM 1 Ghardl o foIu st
HETEqUl 8 | UET hich 1531 3 &Y o Ush i hl UlshaT o Teh =0T 1 waTeH
fopar |

() 3w ° afdd yay & S i ggeEm hiiv qun @ auErse |

(i) 39YE (i) ¥ IgaH fohU T SR o =X i FHAET RrEeht Heat 4 7™
H HHT h BRI o SR 1 qdT T o T 91 o |

(iii) STFH H HHT % HRON 1 GqT T dTeit W d AR ITeq i o 99=mq.
fsat g fofe S aTer STTeT =Xr |9Esy |
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(a)  Explain the following factors affecting choice of capital structure of
a company :
(1) Return on Investment
(i1)  Floatation Costs

(i)  Flexibility
OR

(b)  Explain the following factors affecting working capital requirement

of a company :

(1) Nature of business
(i1)  Business cycle

(111) Inflation

Nishtha runs a chain of famous restaurants, ‘Indian Kitchen’, in different
parts of Delhi. The restaurant chain was known for good quality food and
quick service. ‘Indian Kitchen’ was generating good revenue and had
goodwill in the market. Nishtha would take a weekly report from all the
Restaurant Managers and take necessary action to resolve the problems,
if any. Nishtha noticed a sudden decline in sales in one of the
restaurants. She questioned the Restaurant Manager who mentioned
that the restaurant is seeing a gradual decrease in the number of
customers, but could not provide a clear explanation for it. So, Nishtha
formed a team to find out the causes of the declining customers as this is
the key area for restaurant business and is critical to the success of
business. By doing this, Nishtha is performing a step of the process of a
function of management.

(1) Identify and explain the function of management discussed above.

(i1)  Explain the step of the function identified in (i) above, followed by
Nishtha to find out the causes of declining revenue.

(iii)) Explain the step Nishtha will take after she gets the report from
the team formed to find out the causes of declining revenue.
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‘WA faHeE’ T AR HRIE AIFCa HFa-H! JY0 WA H 370 Afdfafimse
AP YGH Hdl 8 | HEAA 1 foBRd (IMMed) wgd Ik o1 ek
IRUTHEEEY 3128 A9 81 8 3 | &I HRiER AUwr], faam agd aed of a2
e TS o1 | 36 W % A&l Wl U A o Tolw AR Ta I
&1 fagieer fopan | |ft wifafafemn & =rafeoq au—ag o qeon foftm #rd 9ef o
faRTe @9 o1 | T 7 U FHATRAT & (AT JTAITE, VH, THhIad,
Tiftd & a1 fasm & 1 glaard yge i g3 off, M Iwm o faam s
% THY R Tehd o | 39 GIAETHAT 1 ITAM Hd §C FAANAT § e foepfaa
B AT d 7 hIA KA, HHEINSR qAT WeHHS Hai W F@ Hd o /e

s T A

HETIe-geh 1 GEeehll T o1 | 364 H&J HRIGR IMUHRT Pl hal T
HUFTE! hl A FAGTE TGH BT hl hig ATEITRdT T81 o Fifch Ig 7 hadl
e W fafn fofa wR o Afq g qesdl @i o) s € @ o1 9 e
T Je i foreft e i Aavashdr st 7, I Gt sEer fomig
3 | 3 goma fen o6 3% 39 gfawmest + 9 & o =i | W g
HREARR ARRR, fogM 7 A8ue-us i U 6 39 YhR hl AN
A: TR STTavTd 3 IR Wired o gdiay fga O off | iy W AN & me
UH 37d:foramd A=l o AT AT el & Ueh ST bl 3cUe hidl & al
S8 Sgd ¥ ¢ |

(i) 39 G o TR hl Tga whitve a1 FHemEy o Iufefa gea

HRIBRT AR = STETIH WS i |

(i) 39FE (1) § I§IM T TS o TR o fohegi al i qm f gl b
3@ hHINT |
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‘Rewton Ltd. was a reputed computer software company providing
unique software all over India. The turnover of the company was very
high resulting in good profits. The Chief Executive Officer, Vihaan, was
very strict and disciplined. He specified the boundaries of authority and
responsibility for achieving organizational goals. There was systematic
coordination among the various activities and specific relationships
among various job positions. The company provided facilities like a
canteen, a gym, a library, a music room, and a rest area for its employees,
which they could use during rest intervals. Using these facilities, the
employees developed friendships and discussed not only their personal,

social and emotional issues, but also the official ones.

The General Manager was of a different view. He told the Chief
Executive Officer that there was no use providing these facilities to the
employees as it is an extra financial burden on the organization on one
hand and on the other hand, it encourages groupism and whenever any
change is required in the organization, they all resist. He suggested that
they should do away with these facilities. But the Chief Executive
Officer, Vihaan, explained to the General Manager that this type of social
interaction is necessary, and is in the best interest of the organization.
These interactions among people at work give rise to a network of social

relationships among employees and have many benefits.

(i) Identify and explain the type of organisation whose existence the

Chief Executive Officer felt was necessary.

(i1) State any two advantages and two disadvantages of the type of

organization identified in (i) above.
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